
Basic Algebra: Unit 7 Factoring Part I

Factoring

Factoring is important since

• it is used to solve some quadratic equations of the form x2 + bx + c = 0 (we will learn another technique involving
the quadratic formula later),

• it is used to simplify rational expressions,

• as the complement to the distributive property, it is one of the most important algebraic techniques to effectively
work with algebraic expressions,

• it can be used to factor higher degree polynomials and work with more complicated expressions like
8x3y + 16x2y2 − 24x3y3.

Common factors in terms

Why do this? Usually you want the greatest common factor so you can work with smaller numbers:

8x3y + 16x2y2 − 24x3y3 = 8x2y(x + 2y − 3xy2).

Factoring by Grouping

This is sort of like using the distribution property in the other direction:

(3y − 8)(2x− 7) = 3y(2x− 7)− 8(2x− 7) (distribution property)
3y(2x− 7)− 8(2x− 7) = (3y − 8)(2x− 7) (factoring by grouping)

Factoring trinomials of form x2 + bx + c

x2 + bx + c = (x + m)(x + n) where m and n are two numbers whose product is c and sum is b.

Example Factor x2 + 5x− 6.

Look for two numbers whose product is −6 and sum is 5: the numbers are +6,−1:

c2 + 5x− 6 = (x+ )(x+ ) = (x + 6)(x + (−1)) = (x + 6)(x− 1)

Always multiply out to determine if you have the correct answer:

(x + 6)(x− 1) = x(x− 1) + 6(x− 1) = x2 − x + 6x− 6 = x2 + 5x− 6.

Factoring trinomials of form ax2 + bx + c

This is more involved, and requires the use of the trial and error method, or the grouping method. I prefer the grouping
method, but both will work. I don’t care which one you use.

The Grouping Method to factor trinomials of form ax2 + bx + c:

1. Determine the grouping number ac.

2. Find two numbers whose product is ac and sum is b.

3. Use these numbers to write bx as the sum of two terms.

4. Factor by grouping.

5. Check your answer by multiplying out.
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Example Factor 2x2 − 7x + 6.

Factor by grouping. Find two numbers whose sum is −7 and product is 2× 6 = 12: −3,−4.

2x2 − 7x + 6 = 2x2 − 3x− 4x + 6 rewrite middle term using your two numbers
= x(2x− 3)− 2(2x− 3) common factors: the first two terms together and the last two together
= (x− 2)(2x− 3) factor by grouping

Multiply out to check:

(x− 2)(2x− 3) = x(2x− 3)− 2(2x− 3) = 2x2 − 3x− 4x + 6 = 2x2 − 7x + 6

How to “Find two numbers whose product is c and sum is b”

Trial and error–if the numbers are small enough, you can usually guess your two numbers.

A slightly more systematic approach is to list the factors of the product until you either find your two numbers or determine
there aren’t any (the trinomial is then prime).

For example, if we want two numbers whose product is −154 and whose sum is 15 we can do the following:

Product Factor Sum
−154 (77)(−2) 75
−154 (14)(−11) 3
−154 (7)(−22) −15
−154 (−7)(22) 15

Stop once you have found the two numbers, in this case −7 and 22.

Obviously, for large numbers this can be a lot of work. This is one reason why it is suggested that you factor common
factors at the beginning, so the numbers you are working with are smaller and the “Find two numbers whose. . . ” step is
therefore easier.

Advice

Factoring might take multiple steps. Focus on making each step mathematically correct instead of finding the fastest way
to the factorization. There are multiple ways to do each problem, each of which can be correct.

For example, consider the following factorization (text 6.2.28):

5x2 − 3xy − 10x + 6y = x(5x− 3y) + 2(−5x + 3y) (1)
= x(5x− 3y)− 2(5x− 3y) (2)
= (x− 2)(5x− 3y) (3)

Our text would say that step 1 is wrong because you should have factored −2 out of the last two terms. The text has
this completely wrong. How are you supposed to know you should factor −2 instead of 2 at that point? You only know
this once you get to step 2 and see that if you factor a −1 out of the second term you will be able to factor 5x− 3y out
of each term. The solution presented above is mathematically correct at each step and gets to the right answer–there is
nothing “wrong” about it!
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Example Find a polynomial that describes how much greater the perimeter of the square is than the circumference of
the circle for a circle that is inscribed in a square with sides of length x. Inscribed means the sides of the circle touch all
four sides of the square.

The perimeter of the square is x + x + x + x = 4x.

The circumference of the circle is 2π(radius) = 2π
(

x
2

)
= πx.

The difference is 4x− πx = (4− π)x.

Example Factor 3x2 − 33x + 54.

Factor a 3 first to get a = 1. Two numbers whose product is 18 and sum is −11: −2, −9.

3x2 − 33x + 54 = 3(x2 − 11x + 18)
= 3(x− 2)(x− 9)

Alternate solution: If you didn’t notice you could factor a 3 out of each term, you can factor by grouping.

Find two numbers whose product is 3× 54 = 162 and whose sum is −33: −27 and −6.

Now write the −33x term as two terms based on the numbers you found.

3x2 − 33x + 54 = 3x2 − 27x− 6x + 54
(red terms have a factor of 3x)
(blue terms have a factor of −6)
= 3x(x− 9)− 6(x− 9)
(both terms have a factor of x− 9)
= (3x− 6)(x− 9)

Check: (3x− 6)(x− 9) = 3x2 − 6x− 27x + 54 = 3x2 − 33x + 54.
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